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CHEMIST IN TAMIL NADU INDUSTRIES 
SUBORDINATE SERVICE  

 
1. The first stage in the development of a concept is 

a. Reading    b. Questioning  
c. Sensory exploration  d. Reasoning 
e. Answer not known 
fUj;J tsh;r;rpapd; Kjy; epiy  
a. thrpj;jy;    b. tpdh Nfl;ly;  
c. Gyd; mfo;thuha;r;rp  d. fhuzk; fhzy;  
e. tpil njhpatpy;iy  

  
2. The UN conference of Environment and development is popularly 

known as ____________. 
a. Montreal protocol  b. Basel conference 
c. Kyoto protocol    d. Earth summit 

e. Answer not known   
Rw;Wr;#oy; kw;Wk; Nkk;ghl;Lf;fhd I.eh. khehL gpugykhf _________ 
vd miof;fg;gLfpwJ.  
a. khd;l;hpay; newpKiw  b. Ngry; khehL  
c. fpNahl;Nlh newpKiw  d. G+kp cr;rp khehL  
e. tpil njhpatpy;iy  

 
3. The Sanyasi Andolan was the earliest uprising against British rule. It 

broke out in 
a. Madras   b. Delhi    c. Kashmir 
d. Bengal  e. Answer not known 
Mq;fpy Ml;rpf;F vjpuhf Kjd; Kjypy; vOe;j rd;epahrp md;Nlhyd; 
fpsh;r;rp Njhd;wpa ,lk;  
a. nrd;id   b. nly;yp    c. fh~;kPh;  
d. tq;fhsk;   e. tpil njhpatpy;iy  
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4. _________ is responsible to produce   desirable   effects on public 
Revenue and expenditure; and also responsible to avoid undesirable 
effects on the national income, production and employment.  
a. Fiscal policy    b.  Money policy 
c. Macro Economic policy           d. Fiscal and monetary policy 
e. Answer not known 
________ MdJ nghJ tUtha; kw;Wk; nryTj; jpl;lk; Mfpatw;wpy; 
tpUk;gjf;f tpisTfis jUtjw;Fk;> Njrpa tUkhdk;> cw;gj;jp 
kw;Wk; Ntiytha;g;G Mfpatw;wpy; tpUk;gjfhj tpisTfis 
jLg;gjw;Fk; fhuzkhf cs;sJ.  
a. epjpf;nfhs;if     b. gzf;nfhs;if 
c. Nghpa nghUshjhu nfhs;if  d. epjp kw;Wk; gzf; nfhs;if  
e. tpil njhpatpy;iy  

 
5. How the chemical fertilizers can be avoided in agriculture? 

 I. Drip irrigation 
 II. Cultivation of oil seeds  
 III.   Cultivation of cereals 
 IV. Bio – fertilisers 
 a. III and IV    b. IV only               c. II and III  
 d. All of the above  e. Answer not known 
 Ntshz;ikapy; vt;thW Ntjp cuq;fis jtph;f;fyhk;?  
 I. nrhl;L ePh;g;ghrdk;  
 II. vz;nza; tpj;J rhFgb 
 III. rpW jhdpa rhFgb 
 IV. caph; cuq;fs;  

a. III kw;Wk; IV    b. II kl;Lk;   c. II kw;Wk; III  
d. Nkw;$wpait midj;Jk;  e. tpil njhpatpy;iy  

 
6. Human Development Index is constructed on the basis of  

I. Life expectancy at birth    II. Standard of Living 
III. Educational attainments   IV. Morbidity  
a. I, II and III are correct    b. II and III are correct  
c. III and IV are correct    d. I, II, III and IV are correct  
e. Answer not known  
kdpj Nkk;ghl;Lf; FwpaPL fPo;tUtdtw;Ws; vjd; mbg;gilapy; 
cUthf;fg;gl;Ls;sJ?  
I. tho;ehs; (MAl; fhyk;)   II. tho;f;if juk;  
III. fy;tp jFjp     IV. NehAw;w jd;ik  
a. I, II kw;Wk; III rhp  b. II kw;Wk; III rhp   c. III kw;Wk; IV rhp   
d. I, II, III kw;Wk; IV rhp  e. tpil njhpatpy;iy  
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7. The ________ principles are included  in  the  Articles  38,   39,   41, 42   
and  43 of Indian Constitution. Which are related to Directive 
principles of State policy? 
a. Gandhian  b. Socialistic  c. Liberal      
d. General  e. Answer not known 
murpd; newpKiwf; nfhs;iffisf; nfhz;l ,e;jpa murpayikg;G> 
tpjpfs; 38> 38> 41> 42 kw;Wk; 43 ________ nfhs;ifia 
ntspg;gLj;Jfpd;wd.  
a. fhe;jpathj  b. rkjh;k    c. jhuhsthj    
d. nghJthd  e. tpil njhpatpy;iy  
 

8. Match List I (Party) with List II (Associate / Founder) and choose the 
correct answer from the codes given below:  

List I      List II  
(Party)    (Founder / Associated with)  

A. Independent Labour Party 1. C. Rajagopalachari  
B. Bharathiya Jana Sangh  2. A.K. Gopalan 
C. Swatantra Party   3. B.R. Ambedhkar 
D. Communist Party   4. Deen Dayal Upadhyaya  

A B C D 
 a. 1 2 3 4 
 b. 3 4 1 2  
 c. 4 3 1 2  
 d. 3 4 2 1  

e. Answer not known 
gl;bay; I k; (murpay; fl;rp) gl;bay; II (jiyth;) cld; xg;gPl;L> 
rhpahd tpilia Njh;T nra;aTk;. 
 gl;bay; I     gl;bay; II  

(fl;rp)     (jiyth; / cWg;gpdh;)  
A. Rje;jpu ciog;ghsh; fl;rp  1. rp. uh[Nfhghyhr;rhhp  
B. ghujpa [d rq;fk;    2. V.Nf. Nfhghyd;  
C. Rje;jpuf; fl;rp    3. gp.Mh;. mk;Ngj;fh;  
D. fk;A+dp];l; fl;rp    4. jPd; jahy; cghj;aha;  

A B C D 
a. 1 2 3 4 
b. 3 4 1 2  
c. 4 3 1 2  
d. 3 4 2 1 

 
  



 

4 | Page 044-24339436, 42867555, 9840226187 
 

9. Who stated that "Fundamental Rights are the shield of Democracy"?  
a. Patanjali Sastri   b. Lai Bahadur Sastri 
c. Sri Vishnu Sastri   d. Ramakrishna Sastri 
e. Answer not known 
“mbg;gil chpikfs; vd;gJ kf;fshl;rpapd; ftrk;” vdf; $wpath; 
ahh;?  
a. gjQ;ryp rh];jphp  b. yhy; gfJ}h; rh];jphp 
c. = tp~;Z rh];jphp d. uhkfpU~;z rh];jphp  
e. tpil njhpatpy;iy  
 

10.  Select the word that was inserted in the 6th para of the preamble by 
an amendment in 1976. 
a. Socialist  b. Secular     c. Integrity   
d. Dignity  e. Answer not known 
KfTiuapd; 6k; gj;jpapy; 1976 Mk; Mz;L murpay; rhrd jpUj;jy; 
rl;lk; %ykhf Nrh;j;j thh;j;ijia njhpe;J vLf;fTk;.  
a. Nrhrypr/rkjh;kkhd  b. kjr;rhh;gw;w   c. Neh;ik  
d. fz;zpak;    e. tpil njhpatpy;iy  

 
11. Tulsidasa was the most prominent saint of ________ cult.  

a. Kali    b. Rama    c. Shiva   
d. Vaishnava    e. Answer not known 
_________ topghl;by; Jsrpjhrh; kpf rpwe;j Jwtp.  
a. fhsp     b. ,uhk    c. rpt   
d. it~;zt    e. tpil njhpatpy;iy  
 

12. Who was the author of Varadambika Parinayam?  
a. Peddanna   b. Thirumalamba Devi c. Ganga Devi 
d. Krishna Devaraya Answer not known 
th;jhk;gpfh ghpzhak; vd;w E}ypd; Mrphpah; ahh;?  
a. ngj;jz;zh   b. jpUkyhk;gh Njtp   c. fq;fh Njtp 
d. fpU~;zNjtuhah;  e. tpil njhpatpy;iy  
 

13. Which state was divided into “Seven waring principalities’ during 
Akbar’s reign?  
a. Bihar   b. Bengal   c. Gujarat   d. Orissa  
e. Answer not known 
mf;ghpd; fhyj;jpy; ve;j khepyk; VO Ngh; Ghpe;Jnfhs;Sk; 
gpuNjrq;fshf gphpf;fg;gl;lJ?  
a. gP̀ hh ; b. ngq;fhy;  c. F[uhj;  d. xhp];]h  
e. tpil njhpatpy;iy  
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14. Regarding the Indus Valley Civilization, consider the following 

statement. 
1. It was predominantly a secular civilization and the religious 
element though present did not dominate the scene. 
2. During the period, Cotton was used for manufacturing textiles in 
India. 
Which of the statements given above is/are correct? 
 a.    (1) only   b. (2) only  c. Both (1) and (2)  
d. Neither (1) nor (2) e. Answer not known 
rpe;J rkntsp ehfhpfk; gw;wpa fPo;f;fz;l $w;wpy; vJ rhpahd $w;W? 
Njh;T nra;f.  
1. ,J kjr;rhh;gw;w ehfhpfk; Kjd;ikahdjhf fhzg;gl;lJ. NkYk; 

kjkhdJ xU NghJk; rKjhaj;jpy; Mf;fpukpf;ftpy;iy. 
2. ,f;fhyj;jpy; [Tspj; njhopw;rhiy cw;gj;jpapy; gUj;jp Kf;fpa 

gq;F tfpj;jJ.  
a. (1) kl;Lk;   b. (2) kl;Lk;  
c. (1) kw;Wk; (2) kl;Lk; d. (1) k; ,y;iy (2) k; ,y;iy  
e. tpil njhpatpy;iy  
 

15. The nodal agency responsible for monitoring seismic activity in and 
around one country is 
a. Geological Survey of India  
b. Indian meteorological Dept 
c. Emergency operation centre  
d. National Disaster Management centre  
e. Answer not known 
,e;jpa murhq;fj;jpd; ve;j epWtdk; ehl;by; Vw;gLk; epy mjph;Tfis 
fz;fhzpf;fpwJ 
a. ,e;jpa Gtpapay; Ma;T ikak;  
b. ,e;jpa thdpiy Ma;T ikak;  
c. mtru fhy nray;ghl;L ikak;  
d. Njrpa Nghplh; Nkyhz;ik ikak;  
e. tpil njhpatpy;iy  
 

16. Name the place where the Khadar soil is found. 
a. Foot hills  b. Piedmont plain  c.  Flood plain  
d. All the above  e. Answer not known 
fhjh; tif kz; vq;Nf fhzg;gLfpwJ?  
a. kiy mbthuk;   b. gPl;khd;l; rkntsp  
c. nts;sr; rkntsp   d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy  
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17. _____ is the highest peak in the state of Maharashtra. 
a. Kalsubai   b. Kudarmukh  c. Mahabaleshwar 
d. Harishchandra  e. Answer not known 
kfhuh~;buh khepyj;jpy; mike;Js;s kpf caukhd rpfuk;  
a. fy;Rgha;   b. Flh;Kf;   c. kfhgNy];th;  
d. `hp~;re;jpuh   e. tpil njhpatpy;iy  
 

18. What is the discovery of Japanese Isamu Akasaki who was awarded 
Nobel Prize for physics in the year 2014? 
a. Discovered that black hole formation is a prediction of general 

theory of relativity. 
b. Discoveries in theoretical cosmology 
c. Inventions in the field of laser physics  
d. Invention of blue light emitting diode 
e. Answer not known 
2014 Mk; Mz;L ,aw;gpay; Jiwf;fhd Nehgy; ghpR> [g;ghdpa ,rhK 
mfhrhfpf;F ve;j fz;Lgpbg;Gf;fhf toq;fg;gl;lJ?  
a. rhh;gpay; nghJthd Nfhl;ghl;bd; fzpg;G jhd; fUj;Jis 

cUthf;Fk; vd;gij fz;Lgpbj;jhh;. 
b. Nfhl;ghl;L mz;ltpay; Jiwapy; fz;Lgpbg;Gfs;  
c. Nyrh; ,aw;gpay; Jiwapy; fz;Lgpbg;Gfs;  
d. ePy xsp ckpOk; ilNahL fz;Lgpbg;G  
e. tpil njhpatpy;iy  

 
19. "Venkatasubbiah" of Karnataka well known personality, is a 

a. Historian   b. Chorographer   c. Vocalist  
d. Lexicographer   e. Answer not known  
‘ntq;fl Rg;igah” vDk; fh;ehlfhtpd; Gfo; ngw;w MSik Xh;  
a. tuyhw;whrphpah;      b. tphpepy E}yhyh; 
c. ,ir tof;fpy; tha;g;ghl;lhsh;   d. nrhw;fsQ;rpa Mrphpah;  
e. tpil njhpatpy;iy  
 

20. From the following statement, which are correct?                             
1. Italian company Sabaf manufacturers components for household 

cooking appliances. 
2. Cubic modular systems is from Denmark. 
3. Stan a dyne is an Indian based company. 
4. Eickhoff wind Asia Pvt. Ltd., is from Singapore 
a. (1) and (2)  b. (2) and (3)  c. (3) and (4)   
d. (4) only  e. Answer not known 
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gpd;tUk; $w;wpy; vit rhpahd $w;W:  
1. ,j;jhyp ehl;bidr; Nrh;e;j Sabaf epWtdk; tPl;L rikay; 

rhjdq;fSf;fhd nghUis jahhpf;fpwJ.  
2. Cubic modular systems epWtdk; Denmark ehl;bid Nrh;e;jJ  
3. Stan a dyne xU ,e;jpa ehl;il rhh;e;j epWtdkhFk;  
4. Eickhoff wind Asia Pvit Ltd vd;w epWtdk; rpq;fg;G+iu Nrh;e;jJ  
a. (1) kw;Wk; (2)  b. (2) kw;Wk; (3)  c. (3) kw;Wk; (4)  
d. (4) kl;Lk;    e. tpil njhpatpy;iy  
 

21. A sudden change of a gene or chromosome from one form to another 
is called 
a. Deletion   b. Duplication       c. Mutation  

d. Inversion   e. Answer not known 
kugZf;fs; kw;Wk; FNuhNkhNrhk;fspy; Vw;gLk; jpBh; khw;wk; 
miof;fg;gLtJ  
a. ,oj;jy;   b. gd;klq;fhjy;  c. rLjp khw;wk;   
d. jiyfPohjy;   e. tpil njhpatpy;iy  
 

22. Where Khod Mals tribes live in India? 
a. Tripura  b. Sikkim   c. Gujarat     
d. Orissa  e. Answer not known 
,e;jpahtpy; Nfhl; ky;]; goq;Fbapdh; vq;Nf tho;fpwhh;fs;? 
a. jphpGuh  b. rpf;fpk;   c. F[uhj;    
d. xhprh   e. tpil njhpatpy;iy 
 

23. Which of the following planet rotates from East to West? 
a. Earth   b. Jupiter   c. Mars     
d. Venus  e. Answer not known 
fPo;fhz;gtw;Ws; ve;j fpufk; fpof;fpypUe;J Nkw;F Nehf;fp Rw;Wk;? 
a. G+kp   b. tpahod;   c. nrt;tha;   
d. nts;sp   e. tpil njhpatpy;iy  

 
24. Learning of science mainly helps a learner to develop 

a. Scientific attitude of mind  b. New ideas 
c. Experimentation skills   d. Positive attitude towards life 
e. Answer not known 
mwptpaiy fw;gjhy; fw;gth; tsh;j;Jf; nfhs;StJ  
a. kdjpd; mwptpay; mZFKiw  
b. Gjpa fUj;Jf;fs;  
c. ghpNrhjid jpwd;  
d. tho;f;ifia Fwpj;j Neh;kiwahd mZFKiw  
e. tpilnjhpatpy;iy  
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25. What is the eleventh Fibonacci number?  
a. 55  b. 77   c. 89  d. 144 e. Answer not known 
gjpNdhwhtJ gpgNdhrp vz; vd;d?  
a. 55  b. 77   c. 89  d. 144 e. tpil njhpatpy;iy  
 

26. If AT = 20, BAT = 40 then CAT will be equal to 
a. 30 b. 50   c. 60  d. 70  e. Answer not known 
AT = 20 kw;Wk; BAT = 40  vdpy; CAT = ? 
a. 30 b. 50   c. 60  d. 70  e. tpil njhpatpy;iy  
 

27. Find the missing number. 

 
a. 40 b. 60  c. 64  d. 74  e. Answer not known 
tpLgl;l vz;izf; fhz;f.  

 
a. 40 b. 60  c. 64  d. 74  e. tpil njhpatpy;iy  
 

28. A can do a work in 15 days and B in 20 days. If they work on it 
together for 4 days, then the fraction of the work that is left is: 

a. 
1

4
 b. 

1

10
  c. 

7

15
  d. 

8

15
  e. Answer not known 

A xU Ntiyia 15 ehl;fspy; nra;thh;. B mNj Ntiyia 20 
ehl;fspy; nra;thh;. mt;Ntiyia A, B ,UtUk;l Nrh;e;J 4 ehl;fs; 
Kbj;jgpd; kPjKs;s Ntiyapd; gpd;dk;  

a. 
1

4
 b. 

1

10
  c. 

7

15
  d. 

8

15
  e. tpil njhpatpy;iy  

 
29. The radius of a spherical balloon increases from 7 cm to 14 cm as air 

is being pumped into it. Find the ratio of volumes of the balloon in 
the two cases.  
a. 1 : 2    b. 1 : 4    c. 1 : 8   
d. 7 : 14     e. Answer not known 
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7 nr.kP Muk; nfhz;l Nfhs tbt gY}dpy; fhw;W nrYj;jg;gLk; 
NghJ mjd; Muk; 14 nr.kP Mf mjpfhpj;jhy;> mt;tpU epiyfspy; 
gY}dpd; fd msTfspd; tpfpjj;ijf; fhz;f.  
a. 1 : 2   b. 1 : 4     c. 1 : 8   
d. 7 : 14    e. tpil njhpatpy;iy  

 
30. The population of a village increases by 10% every year. If the present 

population is 6000, what will be the population of the village after 3 
years?  
a. 7966  b. 7956  c. 7936  d. 7986 

e. Answer not known 
xU fpuhkj;jpd; kf;fs; njhif xt;nthU Mz;Lk; 10% mjpfhpf;fpwJ. 
mjd; ,g;Nghija kf;fs; njhif 6000 vdpy; 3 Mz;LfSf;F gpwF 
mf;fpuhkj;jpd; kf;fs; njhif vd;dthf ,Uf;Fk;?  
a. 7966  b. 7956  c. 7936  d. 7986 

e. tpil njhpatpy;iy  
 

31. Basha borrowed Rs. 8,500 from a bank at a particular rate of simple 
interest. After 3 years he paid Rs. 11,050 to settle his debt. At what 
rate of interest he borrowed the money? 
a. 10% b. 5%  c. 20%  d. 15% e. Answer not known 
ghl;~h vd;gth; xU tq;fpapypUe;J xU Fwpg;gpl;l jdptl;b tPjj;jpy; 
& 8>500 I fldhf ngw;whh;. %d;W Mz;Lfs; fopj;J mth; & 11>050 
nrYj;jp flid milj;jhh; vdpy; tl;b tPjk;l  
a. 10% b. 5%  c. 20%  d. 15% e. tpil njhpaptpy;iy  

 
32. Arvind borrowed a sum of Rs. 8,000 from Akash at 7%. per annum. 

Find the amount to be paid at the end of 2 years at simple interest. 
a. Rs. 1,120  b. Rs. 1,210    c. Rs. 9,120   
d. Rs. 9,210  e. Answer not known 
mutpe;;j; vd;gth; & 8>000 ia mfh~; vd;gthplkpUe;J Mz;Lf;F 7% 
jdptl;b tPjk; fldhf ngw;whh;. ,uz;L Mz;Lfspd; Kbtpy; mutpe;j; 
nrYj;j Ntz;ba nkhj;jj; njhifiaf; fhz;f.  
a. &. 1>120  b. &. 1>210  c. & 9>120  d. &. 9>210  
e. tpil njhpatpy;iy  
 

33. Ramya earned per month Rs. 28,296. She utilized her salary in the 
ratio 4:1:3 for education, savings and other expenses respectively. 
Find her savings? 
a. Rs. 2,829.60   b. Rs. 3,247   c. Rs. 3,427    
d. Rs. 3,537   e. Answer not known 
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uk;ah xt;nthU khjKk; & 28>296 rk;ghjpf;fpwhh;. mjid 4 : 1 : 3 
vd;w tpfpjj;jpy; KiwNa fy;tp> Nrkpg;G kw;Wk; ,ju nryTfs; 
nra;fpwhh; vdpy; mth; Nrkpf;Fk; njhif vt;tsT?  
a. &. 2829.0  b. &. 3>247   c. &. 3>427    
d. &. 3>537  e. tpil njhpatpy;iy 
 

34. Bukka sent an embassy to ________ dynasty in China. 
a. Ming   b. Zhou    c. Han   
d. Sui   e. Answer not known 
Gf;fh; rPdhtpd; ____________ tk;rj;jpw;F J}Jtiu mDg;gpdhh;.  
a. kpq;   b. Nrh    c. `hd;   
d. Ra;    e. tpil njhpatpy;iy  
 

35. Find the HCF of the following: 
6(2x2 - 3x-2) 
8(4x2 + 4x + l) 
12(2x2 + 7x + 3) 
a. (2x + l)(x- 2)(2x + l)(x + 3)  b. 2{2x +1) 

c. 4(2x + l)(x-2) d. 6(2x + l)(x + 3)  e. Answer not known 
kP.ngh.t. fhz;f.  
6(2x2 - 3x-2) 
8(4x2 + 4x + l) 
12(2x2 + 7x + 3) 
a. (2x + l)(x- 2)(2x + l)(x + 3)  b. 2{2x +1) 

c. 4(2x + l)(x-2)    d. 6(2x + l)(x + 3) 
e. tpilnjhpatpy;iy  
 

36. Why the State E-mission Team (SEMT) is formulated in Tamil Nadu? 
a. To train IT professionals for economic development 
b. As part of capacity building initiatives under National e-
Governance plan 
c. To provide consultancy services for industries 
d. To provide guidance to e-governance projects at the district level 
e. Answer not known 
jkpofj;jpy; ,-kp~d; FO Vd; cUthf;fg;gl;lJ?  
a. nghUshjhu tsh;r;rpf;fhf IT ty;Yeh;fisg; gapw;Wtpj;jy;  
b. Njrpa kpd; MSik jpl;lj;jpd;gb jpwd; Nkl;ghl;L Kaw;rpapd; Xh; 
gFjp  
c. njhopw;rhiyfSf;F MNyhridfs; toq;Fjy;  
d. khtl;l mstpyhd kpd; MSikj; jpl;lq;fSf;F topfhl;Ljy;  
e. tpil njhpatpy;iy  
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37. According to the (SDG India Index) report of 2019 of NITI Aayog, 

Tamil nadu is placed  ___________ in the sustainable Development 
Goals India. 
a. First   b.  Fourth     c. Third   
d. Sixth   e. Answer not known 
epjp MNahf;-d; mwpf;ifapd; gb jkpo;ehl;bd; epiyahd tsh;r;rp 
,yf;F 2019 FwpaplhdJ khepyq;fspd; thpirapy; ______________ 
,lj;jpy; cs;sJ.  
a. KjyhtJ   b. ehd;fhtJ  c. %d;whtJ  
d. MwhtJ    e. tpil njhpatpy;iy  
 

38. Name of the scheme introduced for the improvement of village 
habitation in Tamil nadu? 
a. Self help scheme  b. Thai scheme  c. Green scheme  
d. Annai scheme  e. Answer not known 
jkpo;ehl;by; Ff;fpuhkq;fspd; Nkk;ghl;bw;fhf mwpKfg;gLj;jg;gl;l 
jpl;lj;jpd; ngah; vd;d?   
a. Ra cjtpj; jpl;lk;  b. jha; jpl;lk;   c. gRik jpl;lk;   
d. md;id jpl;lk;   e. tpil njhpatpy;iy  

 
39. Which committee recommended the 27% reservation of the OBC in 

the government jobs in 1991? 
a. Balwant Rai Mehta Committee 

b. Bindeshwari Prasad Mandal Committee 

c. Ashok Mehta Committee 

d. None of these 

e. Answer not known 
murhq;f Ntiyfspy; gpwgLj;jg;gl;l tFg;gpdUf;F 27% ,l 
xJf;fPl;il rpghhpR nra;j fkpl;b FO vJ?  
a. gy;te;j; uha; fkpl;b  
b. gpe;Nj~;thp gpurhj; kz;ly; fkpl;b 
c. mNrhf; Nkj;jh fkpl;b 
d. ,jpy; vJTk; ,y;iy  
e. tpil njhpatpy;iy  
 

40. The south Indian Liberal Federation was renamed as __________. 
a. Chipko movement   b. Justice party 

c. Dravidian party    d. Self Respect movement 
e. Answer not known 
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njd;dpe;jpa ey chpikr; rq;fk; gpw;fhyj;jpy; fPo;fz;l ngahpy; 
mwpag;gl;lJ.  
a. rpg;Nfh ,af;fk;   b. ePjpf; fl;rp  
c. jpuhtpl ,af;fk;    d. Ra khpahij ,af;fk;  
e. tpil njhpatpy;iy  
 

41. Active   Learning  Methodology   (ALM)   is   being  implemented   at   
the _________  in Tamilnadu 
a. Primary school    b. Middle school            
c. High school     d. Higher secondary school 
e. Answer not known 
jkpo;ehl;by; cs;s ____________ nraypay; fw;wy; Kiw (ALM) 
nray;gLj;jg;gLfpwJ.  
a. njhlf;ffy;tp gs;spfspy;  b. eLepiyg; gs;spfspy;  
c. cah;epiyg; gs;spfspy;   d. Nky;epiyg; gs;spfspy;  
e. tpil njhpatpy;iy  
 

42. Which Gupta ruler issued Allahabad stone Pillar Inscription? 
a. Chandragupta I  b. Samudragupta  c. Kumaragupta I 
d. Skandagupta  e. Answer not known 
ve;j Fg;j tk;r Ml;rpahsh; myfhghj; fy; J}z; fy;ntl;il 
ntspapl;lhh;  
a. Kjyhk; re;jpu Fg;jh;    b. rKj;jpuFg;jh;  
c. Kjyhk; FkhuFg;jh;   d. ];fe;j Fg;jh; 
e. tpil njhpatpy;iy  
 
 

43. Match the following: 
A. Ammu Swaminathan              1. Youth League 
B. Rukmani Lakshmapathy        2. Constituent Assembly 
C. Krishnammal Jaganathan      3. Neil Statue Satyagraha 
D. Anjali Ammal                        4.  Bhoodan Movement 

A B C D 
a. 3 1 4 2  
b. 2 1 4 3   
c. 1 4 3 2  
d. 4 1 2 3 
nghUj;Jf:  

A. mk;K ];thkpehjd;   1. ,isQh; $l;bizT  

B. Uf;kzp yf;Fkpgjp   2. murpay; mikg;Gr;rig 

C. fpU~;zk;khs; n[fehjd;  3. ePy; rpiy re;jpahfpufk;  

D. mQ;ryp mk;khs;   4. G+jhd ,af;fk;  
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A B C D 
a. 3 1 4 2  
b. 2 1 4 3  
c. 1 4 3 2  
d. 4 1 2 3 

 
44. 'Alive was he yesterday, but not today. 

It is a marvel in the world's way'. What is the meaning of this 
Thirukural?  
a. Everything is permanent in this world.  
b. Nothing is permanent in this world. 
c. Birth and Death is natural. 
d. The world is a proud place 
e. Answer not known 
"neLey; csndhUtd; ,d;wpy;iy vd;Dk;  
ngUik Ailj;J,t; TyF" vd;w Fws; $Wk; fUj;J ahJ?  
a. cyfk; epiyj;jJ  
b. cyfk; epiyapy;yhjJ 
c. gpwg;Gk; ,wg;Gk; ,aw;if  
d. cyfk; ngUikAilaJ  
e. tpil njhpatpy;iy  
 

45. Whose quality is it to have courage, a liberal hand, wisdom and 
energy?  
a. Quality of a King     b. Quality of a Minister 
c. Quality of a Soldier       d. Quality of a Poet 
e. Answer not known 
mQ;rhik> <if> mwpT> Cf;fk; ,e;ehd;F Fzq;fSk; ,iltplhJ 
epw;wy;  ahuJ ,ay;G?  
a. murdJ ,ay;G    b. mikr;rdJ ,ay;G  
c. tPudJ ,ay;G    d. GytuJ ,ay;G  
e. tpil njhpatpy;iy  
 

46. Thiruvalluvar refers to the last stage of the uneducated? 
a. Noolgalai Katru Adhigam Peasupaver (who read texts and talk too 
 much) 
b. Noolgalai Katru Peasa Maruppavar (Refusal to read texts)  
c. Noolgalai Katru Kondiruppavar (one who reads the text) 
d. Noolgalai Katru Avaikku Anjubavar (Read the books and Afraid 
to  speak in the congregation)  
e. Answer not known 
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'fy;yhjthpd; fil' vd;W ts;Sth; ahiuf; $Wfpwhh;?  
a. E}y;fisf; fw;W mjpfk; NgRgth;  
b. E}y;fisf; fw;W Ngr kWg;gth;  
c. E}y;fisf; fw;W Ngr kWg;gth;  
d. E}y;fisf; fw;Wf; nfhz;bUg;gth;  
e. tpil njhptpy;iy  

 
47. Identify the first Tamil Text which states that the globe is spherical in 

shape? 
a. Thirukkural      b. Nalladiyar  c. Yeelathi     
d. Mudhumozhi Kanchi  e. Answer not known 
cyfk; cUz;il tbtkhdJ vdf; $wpa Kjy; jkpo;E}y; vJ?  
a. jpUf;Fws;    b. ehybahh;  c. Vyhjp   
d. KJnkhopf;fhQ;rp  e. tpil njhpatpy;iy  
 

48. Which of the Ettuthogai book contains ample historical incidents?  
a. Agananooru     b. Kalithogai  c. Natrinai     
d. Kurunthogai  e. Answer not known 
tuyhw;Wr; nra;jpfs; kpFjpahff; nfhz;l vl;Lj;njhif E}y; vJ?  
a. mfehD}W   b. fypj;njhif   c. ew;wpiz   
d. FWe;njhif   e. tpil njhpatpy;iy  
 

49. Which one of the following Ettuthokai books consists of more 
number of songs? 
a. Nattrinai     b. Kurunthokai  c. Kalithokai    
d. Ainkurunooru  e. Answer not known 
gpd;tUk vl;Lj;njhif E}y;fSs; mjpfkhd ghly;fisf; nfhz;l 
E}y; vJ?  
a. ew;wpiz    b. FWe;njhif   c. fypj;njhif  
d. Iq;FWE}W   e. tpil njhpatpy;iy  
 

50. The founder of Deva Samaj in 1887 was  
a. Swamy Dhayananda Saraswathi  b. Shiv Narain Agnihotri 

c. Athmarao Pandurang    d. Kesavachandra Sen 
e. Answer not known 
1887-y; Njt rkh[j;ij Njhw;Wtpj;jth; 
a. Rthkp jahde;j ru];tjp b. rpt ehuhaz mf;dp N`hj;jphp  
c. mj;kuht; ghz;Luq;  d. Nfrtre;jpu nrd;  
e. tpil njhpatpy;iy  
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51. In which congress session did Mohammad Ali Jinnah moved a 
resolution  condemning the system of communal representation? 
a. l910    b. 1911  c. 1912     d. 1913 
e. Answer not known 
ve;j fhq;fpu]; khehl;by; tFg;G thj gpujpepjpj;Jtk; jtW vd;w 
kNrhjhit KfkJ myp [pd;dh nfhz;L te;jhh;? 
a. l910    b. 1911  c. 1912     d. 1913 
e. tpil njhpatpy;iy  
 

52. Who was the founder of "All India Scheduled Castes Federation"?   
a. Babu Jaga Jeevan Ram   b. B.R. Ambedkar 
c. Y.P. Chavan       d. S.B. Chavan 
e. Answer not known 
midj;jpe;jpa gl;bay; ,dj;jpdhpd; $l;likg;gpid epWtpath; ahh;? 
a. ghG n[f[Ptd; uhk;   b. B.R. mk;Ngj;fh; 
c. Y.P. rthd;     d. S.B. rthd;  
e. tpil njhpatpy;iy  

 

53. Who among the following was regarded as "Moksha Guru" by 
Gangadar Tilak? 
a. Anna Sahib   b. V.D. Savarkar  c. M.G. Ranade  
d. W.C. Banerjee  e. Answer not known 
fPo;fz;lth;fspy; ahiu ghyfq;fhju jpyfh; “Nkhl;r FU” thf 
fUjpdhh;?  
a. md;dhrhfpg;   b. V.D. rhth;f;fh;  c. M.G. uhzNl  
d. W.C. ghzh;[p  e. tpil njhpatpy;iy  
 

54. Out of various stages in demographic transition theory the stage that 
exhibits "Low birth rate and low death rate" Corresponds to 
a. Rapid increase in population 
b. Stable or slow increase in population 
c. Rapid decrease in population 
d. Population explosion 
e. Answer not known 
kf;fl; njhifapay; khw;wf; Nfhl;ghl;bd; gy;NtW fl;lj;jpy; ‘jho;e;j 
gpwg;G tPjk; kw;Wk; jho;e;j ,wg;G tPjk;” cila fl;lj;jpy; gpd;tUk; 
ve;j epiyia xj;jpUf;fpwJ.  
a. kf;fs; njhifapy; tpiuthd mjpfhpg;G  
b. kf;fs; njhifapy; epiyahd my;yJ nkJthd mjpfhpg;G 
c. kf;fs; njhifapy; tpiuthd FiwT 
d. kf;fs; njhif ntbg;G  
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e. tpil njhpatpy;iy  
 

55. The Government of India launched a time bound plan in 2005 called 
Bharath Nirman Yojana. Which one of below is not connected with 
Bharat  Nirman Yojana? 
a. Rural connectivity   b. Rural housing  
c. Self help group    d. Rural water supply 

e. Answer not known 
,e;jpa muR 2005 Mk; Mz;by; ghuj; eph;khd; vd;W miof;fg;gLk; 
xU  fhy  vy;iyf;Fl;gl;l jpl;lj;ij mwpKfg;gLj;jpaJ. 
fPo;fz;ltw;wpy; ghuj;  eph;khd; jpl;lj;Jld; njhlh;gpy;yhjJ vJ?  
a. fpuhkg;Gw ,izg;G    b. fpuhkg;Gw tPl;L trjp  
c. Ra cjtp FO    d. fpuhkg;Gw ePh; mspg;G  
e. tpil njhpatpy;iy  
 

56. Which of the following subject comes under Central Government? 
a. Banking     b. Agriculture  c. Prison       
d. Public health  e. Answer not known 
gpd;tUtdtw;wpy; vJ kj;jpa murpd; fPo; tUfpwJ?  
a. tq;fp    b. tptrhak;   c. rpiw   
d. nghJ Rfhjhuk;   e. tpil njhpatpy;iy  

 
57. Reverse Repo Rate (RRR) means : 

1. The rate at which the RBI is willing to lend to commercial banks 
2. The rate at which the RBI is willing to borrow from the commercial 
banks 
3. Bank rate policy 
4. The variable portfolio ceiling 
a. 1  b. 3  c. 2  b. 4   e. Answer not known  
kPs; nug;Ngh tpfpjk; vd;gJ:  
1. tzpf tq;fpfSf;F ika tq;fp FWfpa fhy fld; toq;Fk; 

nghOJ tpjpf;fk; tl;b tpfpjk;  
2. tzpf tq;fpfsplkpUe;J thq;Fk; flDf;fhd ,e;jpa hprh;t; tq;fp 

nfhLf;f tpUk;Gk; tl;b tpfpjk;  
3. tq;fp tpfpjf; nfhs;if  
4. khWk; njhFg;G tiuaiw  
a. 1  b. 3  c. 2  b. 4   e. tpil njhpatpy;iy  

 
58. Which mission endorsed the plan for a Central Government with 

limited  powers and relatively strong provinces having considerable 
degree of autonomy with all the residuary powers? 
a. 1946, Cabinet Mission   b. 1942, Cripps Mission 
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c. Constituent Assembly 1949  d. Simon Commission, 1928 
e. Answer not known 
gpd;tUk; ve;j FO ika muR typik FiwthfTk; khepy muRfs; 
mjpfhukhd Rje;jpuj;NjhL nray;gLtjw;F tpj;jpl;lJ? 
a. 1946> Nfgpdl; gzpf;FO 
b. 1942> fphpg;]; gzpf;FO 
c. murpay; rhrd mikg;Gf;FO> 1949 
d. irkd; Mizak;> 1928   
e. tpil njhpatpy;iy  
 

59. Who among the following controls the Secretariat of the Loksabha 
and Rajya Sabha, respectively? 
a. President and Vice President respectively  
b. Prime Minister and Union Parliamentary Affairs Minister 
c. Prime Minister and Home Minister  
d. Speaker and Chairman respectively 
e. Answer not known 
gpd;tUk; nghWg;ghsh;fSs; ahh; fPo; mit kw;Wk; Nkyitapd; 
nrayfj;ij fl;Lg;gLj;jp> jiyikNaw;W topelj;jp nry;fpd;wdh;? 
a. [dhjpgjp kw;Wk; Jiz [dhjpgjp 
b. gpujk ke;jphp kw;Wk; kj;jpa ghuhSkd;wj;Jiw mikr;rh;  
c. gpujk ke;jphp kw;Wk; cs;Jiw mikr;rh; 
d. fPoitapd; rghehafh; kw;Wk; Nkyitapd; jiyth; Kiwahf  
e. tpil njhpatpy;iy  

 
60. Which schedule of the Indian Constitution specifies powers, 

authority and responsibilities of Panchayat?  
a. Seventh schedule   b. Sixth schedule  c. Tenth schedule  
d. Eleventh schedule e. Answer not known 
,e;jpa murpayikg;gpd; ve;j ml;lizapy; gQ;rhaj;J Kiwapd; 
Mw;wy;> mjpfhuk; kw;Wk; nghWg;Gf;fisg; gw;wp Fwpg;gpLfpwJ? 
a. VohtJ ml;ltiz   b. MwhtJ ml;ltiz  
c. gj;jhtJ ml;ltiz   d. gjpndhd;whk; ml;ltiz   
e. tpil njhpatpy;iy  
 

61. Choose the correct order of the Vice Presidents based on the 
succession. 
a. K.R. Narayanan, B.D. Jatti, Zakir Hussain, B.S. Shekhawat 
b. Zakir Hussain, B.S. Shekhawat, B.D. Jatti, K.R. Narayanan  
c. Zakir Hussain, B.D. Jatti, K.R. Narayanan, B.S. Shekhawat 
d. B.S. Shekhawat, Zakir Hussain, B.D. Jatti, K.R. Narayanan 
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e. Answer not known 
 Jiz [dhjpgjpfspd; rhpahd thpiria Njh;e;njLf;fTk;.  
a. Nf.Mh;. ehuhazd;> gp.b. n[l;b> [hfph; `{Nrd;> gp.v];. n~fhtl; 
b. [hfph; `{Nrd;> gp.v];. n~fhtl;> gp.b. n[l;b> Nf.Mh;. ehuhazd;  
c. [hfph; `{Nrd;> gp.b. n[l;b> Nf.Mh;. ehuhazd;> gp.v];. n~fhtl;  
d. gp.v];. n~fhtl;> [hfph; `{Nrd;> gp.b. n[l;b> Nf.Mh;. ehuhazd;  
e. tpil njhpatpy;iy  
 

62. Which amendment in 1976, inserting the. word secular in the 
preamble of the Indian Constitution 
a. 41 amendment    b. 42 amendment  
c. 44 amendment    d. 45 amendment 
e. Answer not known 
1976- Mk; Mz;L ,e;jpa murpayikg;gpd; Kfg;Giuapy;> ‘rkarhh;gw;w’ 
vd;w thh;j;ij vj;jidahtJ murpayikg;G rl;ljpUj;jj;jpd;gb 
Nrh;f;fg;gl;lJ? 
a. 41tJ murpayikg;G jpUj;jk;  
b. 42tJ murpayikg;G jpUj;jk;  
c. 44tJ murpayikg;G jpUj;jk;  
d. 45tJ murpayikg;G jpUj;jk; 
e. tpil njhpatpy;;iy  

 
63. The first traces of a human being in India is found in the 

a. Deccan  b. Narmada  c. Indo-Gangetic   
d. Chambhal  e. Answer not known 
kdpjdpd; jlaq;fs; Kjd; Kjypy; ,e;jpahtpy; vq;F 
fz;nlLf;fg;gl;ld? 
a. jf;fhzk;   b. eh;kjh  c ,e;J – fq;if   
d. rk;ghy;   e. tpil njhpatpy;;iy  

 
64. The largest producer of green energy is 

a. Solar power   b. Hydro power  c. Wind power  
d. Geothermal power e. Answer not known 
gRik Mw;wypd; kpfg;nghpa cw;gj;jpahsh; 
a. #hpa rf;jp   b. Gdy; kpd;rf;jp  c. fhw;W rf;jp  
d. Gtpntg;g rf;jp   e. tpil njhpatpy;;iy  

 

65. Which tree was regarded as the tree of creation and knowledge 
during Indus Valley civilization? 

a. Pipal Tree   b. Mango Tree  c. Neem Tree  

d. Tamarind Tree  e. Answer not known 
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ve;j kuk; ‘gilg;G’ kw;Wk; mwptpd; kukhf” rpe;J rkntsp ehfhPf 
fhyj;jpy; fUjg;gl;lJ?  
a. mur kuk;   b. khkuk;    c. Ntg;g kuk;  
d. Gspakuk;    e. tpil njhpatpy;;iy  

 
66. Asbestosis is a chronic inflammatory condition that affects the tissue 

of 

a. Brain     b. Heart   c. Lungs  
d. Kidney   e. Answer not known 
m];ng];lhrp]; vd;w ehs;gl;l mow;rp epiyahy; jpRf;fs; 
ghjpg;gilAk; cWg;G  
a. %is    b. ,jak;  c. EiuaPuy;   
d. rpWePufk;   e. tpil njhpatpy;;iy  

 

67. Match the following : 
Tribe     State 

A. Aka    1. Assam 

B. Ahirs    2. Ladakh 

C. Beda    3. Arunachal Pradesh 

D. Karbe    4. Uttar Pradesh 
A B C D  

a. 3 4 2 1  
b. 3 2 4 1  
c. 4 1 2 3  
d. 2 3 1 4  
e. Answer not known 

fPo;f;fz;ltw;iw nghUj;Jf:  
 goq;Fbapdh;  khepyk;  
A. mfh    1. m];]hk;  
B. mfph;];   2. ylhf;  
C. nglh    3. mUzhr;ry gpuNj~; 
D. fhh;gp    4. cj;jpug; gpuNj~;  

A B C D  
a. 3 4 2 1  
b. 3 2 4 1  
c. 4 1 2 3  
d. 2 3 1 4 
 

68. International children's day celebrated in China on  
a. 21st May    b. 1st June    c. 31st August  
d. 1st November  e. Answer not known 
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rPdhtpy; rh;tNjr Foe;ijfs; jpdk; nfhz;lhlg;gLk; ehs;. 
a. 21 Nk  b. 1[Pd;  c. 31 Mf];l; d. 1 etk;gh;  
e. tpil njhpatpy;;iy  

 
69. Arrange in descending, the top agricultural producing countries in 

the world? 
a. China — India - United States - Brazil 
b. China — United States — Brazil — India 
c. China - United States - India - Brazil 
d. United States — China — India — Brazil 
e. Answer not known 
Ntshz;ik cw;gj;jpapy; Kjd;ikahd ehLfis ,wq;F thpirapy; 
njhpe;njLf;f. 
a. rPdh - ,e;jpah – mnkhpf;f If;fpa ehLfs; - gpNurpy;  
b. rPdh – mnkhpf;f If;fpa ehLfs; - gpNurpy; - ,e;jpah  
c. rPdh – mnkhpf;f If;fpa ehLfs; - ,e;jpah – gpNurpy;  
d. mnkhpf;f If;fpa ehLfs; - rPdh - ,e;jpah – gpNurpy;  
e. tpil njhpatpy;;iy  

 
70. Match the following :  

Name of the party      Symbol    
A. Janata Dal (JD (U))     1. Plough 
B. Jharkhand Mukti Morcha (JMM)   2. Ladder 
C. Indian Union Muslim League  3. Bow and Arrow 
D. Jammu & Kashmir National Conference  4. Arrow 
  A B C D 
 a. 2 3 4 1 
 b. 3 4 1 2  
 c. 4 3 2 1  

d.  1 2 3 4  
e. Answer not known 

fPo;fz;ltw;iw nghUj;Jf:  
 fl;rpapd; ngah;    rpd;dk;  
A. [djh jyk; (U)    1. Vh;fyg;ig  
B. [hh;fz;l; Kf;jp Nkhh;rh (JMM)  2. Vzpg;gb  
C. ,e;jpa A+dpad; K];yPk; yPf;  3. tpy;Yk; mk;Gk;  
D. [k;K fh~;kPh; khehl;L fl;rp  4. mk;G 

A B C D 
 a. 2 3 4 1 
 b. 3 4 1 2  
 c. 4 3 2 1  
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d.  1 2 3 4  
  E. tpil njhpatpy;;iy    
 

71. "ECLGS" scheme is a 
a. Emergency Credit Line Guarantee Scheme 
b. Emergency Credit and Law Guarantee Scheme 
c. Emergency Credit and Life Guarantee Scheme 
d. Emergency Credit Loan Guarantee System 
e. Answer not known 
jpl;lk; vd;gJ  
a. mtrufhyf; fld; cj;juthjj; jpl;lk;  
b. mtrufhyr; fld; kw;Wk; rl;l cj;juthjj; jpl;lk;  
c. mtrufhyf; fld; kw;Wk; Mas; cj;juthjj; jpl;lk;  
d. mtrufhyf; fld; cj;juthj mikg;G  
e. tpil njhpatpy;;iy  

 
72. What is the Vaccine given for polio? 

a. IPV (Inactivated Polio Vaccine) b. OPV (Oral Polio Vaccine) 
c. BCG      d. IPV and OPV  

e. Answer not known  
NghypNahtpw;f;fhd jLg;G+rp vd;d?  
a. ke;jkhf;fg;gl;l NghypNah kUe;J  
b. tha;top NghypNah jLg;G kUe;J  
c. gprp[p 
d. ke;jkhf;fg;gl;l NghypNah jLg;G kUe;J kw;Wk; tha;top NghypNah 
jLg;G kUe;J  
e. tpil njhpatpy;;iy  

 
73. The rays markedly increasing Shelf-life of fresh fruits are 

a. Xrays    b. Gamma rays   c. Beta rays   
d. Alpha rays  e. Answer not known 
goq;fspd; nflh epiyf; fhyj;ijf; Fwpg;gplj;jf;f mstpy; 
mjpfhpf;Fk; fjph;fshdit  
a. X fjph;fs;  b. fhkh fjph;fs;   c. gPl;lh fjph;fs;  
d. My;gh fjph;fs;  e. tpil njhpatpy;;iy  

 

74. The reason for expressing audio power amplification in dB unit is  
a. our ear response   b. easy calculation 
c. no other unit   d. to honour Graham Bel                                                                
e. Answer not known 
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xyp Mw;wy; ngUf;fpapd; myF nlrpgy; vd;W Fwpg;gjw;fhd fhuzk; 
vd;d?  
a. ek;Kila nrtpAzh;T  b. vspjpy; fzf;fpl KbAk;  
c. NtW ve;j myFk; ,y;iy  d. fpufhk; ngy;-iy fTutpg;gjw;fhf  
e. tpil njhpatpy;;iy  

 
75. Deductive reasoning enhances the speed and efficiency ________ 

problems. 
a. in solving  b. in creating  c. in initiating   
d. in imitating  e. Answer not known 
gpur;rpidfis ____________ Ntfj;ijAk; jpwidAk; gFj;jwpjy; 
Ma;T jpwd; Nkk;gLj;JfpwJ. 
a. jPh;g;gjpy;    b. cUthf;Ftjpy; 
c. Jtf;f Kaw;rpapy;  d. Nghyr; nra;tjpy;  
e. tpil njhpatpy;;iy  

 
76. Find the missing number 6, 20, 56, 176, 

a. 216  b. 316  c. 416   d. 516 
e. Answer not known  
tpLgl;l vz;izf; fhz;f. 6, 20, 56, 176, 
a. 216  b. 316  c. 416   d. 516 
e. tpil njhpatpy;;iy  

 
77. 4 Y 3 N C & 9 B L P * D = ↑ M @ 2 E # 7 $ V F G 5 In the above 

sequence which of the following will be exactly in the middle 
between 9 and $?   
a. =  b. ↑   c. D   d. M   e. Answer not known  
NkNy cs;s njhlhpy; 9 kw;Wk; $ vd;w cWg;GfSf;F ,ilNa 
rhpahf eLtpy; tUk; cWg;igf; fhz;f.  
a. =  b. ↑   c. D   d. M   e. tpil njhpatpy;;iy  

 
78. How many ordered pairs of natural numbers (a,b) satisfy a + 26 = 

100?  
a. 33   b. 49  c. 50    d. 99 
e. Answer not known 
a + 26 = 100 vd tUkhW vj;jid ,ay; vz;fs; thpirr; N[hb (a,b)  
cs;sJ. 
a. 33   b. 49  c. 50    d. 99 
e. tpil njhpatpy;;iy  
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79. A can finish a job in 3 days whereas B finishes it in 6 days. The time 
taken  to complete the job together is ___________ days 

a. 2 days  b. 2½ days   c. 3 days    

d. 3½ days  e. Answer not known 

A vd;gth; xU Ntiyia 3 ehl;fspYk; B vd;gth; 6 ehs;fspYk; 
Kbg;ghh;. vdpy;> ,UtUk; xd;whfr; Nrh;e;J me;j Ntiyia ________ 
ehs;fspy; Kbg;gh;.  

a. 2 ehl;fs;  b. 2½ ehl;fs;   c. 3 ehl;fs;    

d. 3½ ehl;fs;  e. tpil njhpatpy;;iy  

 
80. If 15 men take 40 days to complete a work, how long will it take if 15 

more men join them to complete the same work? 

a. 30 days   b. 40 days   c. 25 days      
d. 20 days  e. Answer not known 
15 Mz;fs; xU Ntiyia Kbf;f 40 ehl;fs; vLj;Jf; nfhs;th; 
vdpy;> mth;fSld; NkYk; 15 Mz;fs; Nrh;e;jhy;> mNj NtiyahdJ 
Kba vj;jid ehs;fs; MFk;.  
a. 30 ehl;fs;  b. 40 ehl;fs;   c. 25 ehl;fs;   
d. 20 ehl;fs;  e. tpil njhpatpy;;iy  
 

81. The perimeter of a triangular plot is 600 m. If the sides are in the ratio 
5 :  12 : 13 then find the area of the plot. 
a. 11000 sq.m.   b. 14000 sq.m.   c. 12000 sq.m.  

d. 13000 sq.m.   e. Answer not known 
xU Kf;Nfhz tbtpyhd kidapd; Rw;wsT 600kP. mjd; gf;fq;fs; 5 
: 12 : 13 vd;W tpfpjj;jpy; cs;sd vdpy; me;j kidapd; gug;G 
fhz;f.  
a. 11000 r.kP   b. 14000 r.kP  c. 12000 r.kP  
d. 13000 r.kP    e. tpil njhpatpy;;iy  

 

82. The sum which amounts to Rs. 2662 at 10% p.a. in 3 years 
compounded  yearly is 

a. Rs. 2,000   b. Rs. 1,800  c. Rs. 1,500 

d. Rs. 2,500   e. Answer not known 
10% Mz;L tl;bapy; Mz;Lf;nfhU Kiw tl;b fzf;fplg;gl;lhy; 3 
Mz;Lfspy; _________ vd;w mryhdJ & 2>662 Mf mjpfhpf;Fk;.  
a. &. 2>000  b. &. 1>800   c. &. 1>500  
d. & 2>500  e. tpil njhpatpy;;iy  
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83. The population of a town is increasing at the rate of 6% p.a. It was 
238765  in the year 2018. The population in the year 2020 is 

a. 268376  b.  268276   c. 268266    

d. 268366  e. Answer not known 
xU efuj;jpd; kf;fs; njhif Mz;Lf;F 6% tPjk; mjpfhpf;fpwJ. 2018 
Mk; Mz;L kf;fs; njhif 238765 Mf ,Ue;jJ. 2020 Mk; Mz;bd; 
kf;fs; njhifiaf; fhz;f.  
a. 268376  b.  268276   c. 268266    

d. 268366  e. tpil njhpatpy;;iy  
 

84. The monthly salary of A,B and C are in the ratio 2:3:5. If C's monthly 
salary is Rs. 1,200 more than that of A then find B's annual salary. 
a. Rs. 24,400  b. Rs. 24,000   c. Rs. 14,400   

d. Rs. 14,000     e. Answer not known 

A, B kw;Wk; C d; khj Cjpak; tpfpjk; 2 : 3 : 5 C d; khj Cjpak; A 
apd; khj Cjpaj;ij tpl & 1>200 mjpfk; vdpy; B d; Mz;L 
Cjpak; vd;d?  
a. &. 24>400  b. &. 24>000  c. &. 14>400   
d. &. 14>000   e. tpil njhpatpy;;iy  

 

85. If 
2

3
A = 75% of B, then A : B is 

a. 1 : 1    b. 9:8  c. 8:9  d. 10 : 11 
e. Answer not known 

A-d; 
2

3
 gq;Fk; B d; 75% k; rkk; vdpy; A : B vd;gJ  

a. 1 : 1    b. 9:8  c. 8:9  d. 10 : 11 
e. tpil njhpatpy;;iy  
 

86. What is the smallest 5 digit number that is exactly divisible by 72 and 
108? 

a. 10072  b. 10216   c. 10152  d. 10108 
e. Answer not known 
72 kw;Wk; 108 Mfpa vz;fshy; rhpahf tFglf;$ba kpfr;rpwpa 5 
,yf;f vz;  
a. 10072  b. 10216   c. 10152  d. 10108 
e. tpil njhpatpy;;iy  
 

87. What is the greatest number that will divide 62,78 and 109 leaving 
remainder 2, 3 and 4 respectively? 

a. 5  b. 13  c. 15  d. 17  e. Answer not known 
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62> 78 kw;Wk; 109 I tFj;J KiwNa 2> 3 kw;Wk; 4 I kPjpfshf 
nfhLf;Fk; kPg;ngU nghJf; fhuzp vd;d?  
a. 5  b. 13  c. 15   d. 17  e. tpil njhpatpy;iy  

 

88. When 60 is subtracted from 60% of a number to give 60, then the 
number is 

a. 60  b. 100  c. 150            d. 200 

e. Answer not known 

Xh; vz;zpd; 60% ,ypUe;J 60 If; fopj;jhy; 60 fpilf;Fk; vdpy; 
me;j vz; __________ MFk;. 
a. 60  b. 100  c. 150            d. 200 
e. tpil njhpatpy;;iy  

 
89. If 10% of A is equal to 12% of B, then 15% of A is equal to what 

percent ofB? 

a. 81%  18%  c. 6%   d. 3% 
e. Answer not known 
A d; 10% vd;gJ B ,d; 12% rkk; vdpy; A ,d; 15%> B ,d; ve;j 
rjtPjj;jpw;F rkk;?  
a. 81%  18%  c. 6%   d. 3% 
e. tpil njhpatpy;;iy  
 

90. Chennai 5th water reservoir is being built in 
a. Poondi   b. Thiruvallur  c. Cholavaram    
d. Redhills  e. Answer not known 
nrd;idapd; 5tJ ePh;j;Njf;fk; fl;lg;gLtJ  
a. G+z;b   b. jpUts;Sth;   c. Nrhshtuk;   
d. nrq;Fd;wk;  e. tpil njhpatpy;iy  
 

91. Three language formula was adopted in the education system of 
Tamil  Nadu in the year? 
a. 1975     b. 1965   c. 1985   d. 1970 
e. Answer not known 
jkpof fy;tpj; jpl;lj;jpy; %d;W nkhop Vw;Wf; nfhz;l Mz;L  
a. 1975     b. 1965   c. 1985   d. 1970 
e.  tpil njhpatpy;iy 
 

92. The programme of support to Training -cum-employment (STEP) 
was launched in 1987, for the welfare of 
a. Youth   b. Women   c. Differently abled    
d. Students  e. Answer not known 

/fcB7Thiruvallur
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1987 y; njhlq;fg;gl;l> Ntiytha;g;G kw;Wk; gapw;rpf;fhd MjuTj; 
jpl;lk;>  ghUf;fhd eyj;jpl;lk;?  
a. ,isQh;fs;   b. ngz;fs;  c. khw;Wj;jpwdhspfs;  
d. khzth;fs;   e. tpil njhpatpy;iy  
 

93. Match List I with List II and choose the right answer : 
List I       List II 

A. Cradle baby scheme 1.  Take care  of economically backward 
           women 
B. Service homes  2. Empowerment of rural women 
C. "SAKHI"   3. Save the girl children 
D. Mahila Shakti Kendra 4. Support women affected by violence 
  A B C D 

a. 1 4 2 3 
b. 2 1 4 3  
c. 3 1 4 2  
d.  4 2 1 3  
e.  Answer not known 
thpir I I thpir II-cld; nghUj;jp rhpahd tpilia 
Njh;e;njLf;f:  

  thpir I      thpir II  
A. njhl;by; Foe;ij jpl;lk; 1. nghUshjhuj;jpy; gpd;jq;fpAs;s 

       ngz;fis ghJfhg;gJ  
B. Nrit ,y;yq;fs;     2. fpuhkg;Gw ngz;fSf;F mjpfhukspg;G  
C. rfp     3. ngz; Foe;ijfis ghJfhg;gJ  
D. kfpsh rf;jp Nfe;jpuh 4. td;Kiwahy; ghjpf;fg;gl;l  

       ngz;fSf;F cjTtJ  
  A B C D 
 a. 1 4 2 3 

b. 2 1 4 3  
c. 3 1 4 2  
d.  4 2 1 3  
e. tpilnjhpatpy;iy  

 
94. Consider the following statements regarding self respect marriages 

advocated by Periyar. 
Bring out the statement which is not a part of self respect marriages. 
a. Marriage-conducted without a Brahmin priest 
b. No religious ceremony in the marriages  
c. Took place in the presence of a Government Registrar 
d. Ooth taken by the bride and bridegroom  . 
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e. Answer not known 
nghpahh; Mjhpj;j Rakhpahij jpUkzq;f;s gw;wpa gpd;tUk; 
nrhw;nwhlh;fis  ftdpf;fTk;. 
Rakhpahij jpUkzj;NjhL njhlh;gpy;yhj nrhw;nwhliu tpsf;fTk;  
a. gpuhkz GNuhfpjh; ,y;yhJ elj;jg;gl;lJ. 
b. ve;j kjr;rhh;G tof;fq;fSk; gpd;gw;wg;gltpy;iy  
c. muRg; gjpthsh; Kd;dpiyapy; eilngw;wJ  
d. kzkfd; kw;Wk; kzkfs; cWjpnkhop vLj;Jf; nfhz;ldh;  
e. tpil njhpatpy;iy  
 

95. Arrange Chronologically  
i. Sadlar commission  
ii. The Raleigh Commission  
iii. University Grants Commission  
iv. Radhakrishna Commission 
a. (ii), (i), (iv), (iii)   b.  (i), (ii), (iv), (iii) 
c. (iii), (i), (ii), (iv)   d.  (ii), (i), (iii), (iv) 
e. Answer not known 
fhyKiwg;gb thpirg;gLj;Jf:  
i. rhl;yh; FO  
ii. nuypf; FO 
iii. gy;fiyf;fof epjp ey;iff; FO  
iv. ,uhjhfpU~;zd; FO  
a. (ii), (i), (iv), (iii)   b.  (i), (ii), (iv), (iii) 
c. (iii), (i), (ii), (iv)    d.  (ii), (i), (iii), (iv) 
e. tpil njhpatpy;iy  
 

96. Consider the following pairs : 
I. Gopala Krishna Gokhale - G.A. Natesan 
II. Vijaya Ragavachari  - Lala Lajpat Roi 
III. V.O. Chidambaram  -  Subramaniya Siva 
IV. T. Rengachari    - V.S. Srinivasa Sastri 
Which of the Pair/Pairs given above is/are incorrect? 
a. I and IV only   b. II only 
c. IV only     d. II and III only 
e. Answer not known 
fPo;f;fz;l ,izfisf; ftdp:  
I. Nfhghy fpU~;z NfhfNy - [p.V. eNlrd;  
II. tp[a uhfthr;rhhpahh;  - yhyh y[;gj; uha;  
III. t.c.rpjk;guk;    - Rg;ukzpa rpth  
IV. b. uq;fhr;rhhpahh;  - tp.v];. rPdpthrd; rh];jphp 
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Nkw;fz;l ,izapy; vJ jtwhdJ? 
a. I kw;Wk; IV kl;Lk;   b. II kl;Lk;  
c. IV kl;Lk;    d. II kw;Wk; III kl;Lk;  
e. tpil njhpatpy;iy 
 

97. Consider the statements on the middle Palaeolithic period and pick 
out the correct answer. 
(i) The tools are smaller in size 

(ii) They are found at Attirampakkam, Gudiyam and Vadamadurai 
(iii) Urn burials have been found 

(iv) Cultivation of food plants is an important trait 
a. (i) and (ii) are correct  b. (ii) and (iii) are correct 
c. (iii) and (iv) are correct  d. (i) and (iv) are correct 
e. Answer not known 
,il goq;fw;fhyk; gw;wpa gpd;tUk; nrhw;nwhlh;fis ftdpf;f. gpd; 
rhpahd gjpy;fis Njh;e;njLj;J vOJf; 
i. fUtpfs; mstpy; rpwpad 
ii. mjpuhk;ghf;fk;> Fbak;> tlkJiu Mfpa ,lq;fspy; ele;j 
mfo;tuha;r;rpapy; fpilj;Js;sd.  
iii. KJkf;fs; jhopfs; fpilj;Js;sd 

iv. czTg;gaph;fs; gaphpl;ldh; 
a. i kw;Wk; ii rhp   b. ii kw;Wk; iii rhp 
c. iii kw;Wk; iv rhp   d. i kw;Wk; iv rhp  
e. tpil njhpatpy;iy  

 
98. Which racial group authored Indus valley civilisation? 

a. Aryan     b. Dravidian 

c. Non-Aryan      d. Pre-Aryan 

e. Answer not known 
ve;j ,df;$l;lk; rpe;Jntsp ehfhpfj;jpid cUthf;fpaJ?  
a. Mhpah;    b. jpuhtplh;  
c. Mhpah; my;yhjhh;  d. Ke;ija Mhpah;  
e. tpil njhpatpy;iy 
 

99. __________    and  _____________ and __________error's tripletyranny 
is  oer.  Their very names for aye extinct, then pain shall be no more. 
In this Thirukkural what three things that far away from human 
being? 

a. Lust, Innocent, Dizzy 

b. Envy, Aspiration, Innocent 
c. Nimpiri, Dizzy, aspiration 
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d. Dizzy, Aspiration, Lust 
e. Answer not known 

___________, ______________, ______________ ,it %d;wd;  
ehkk; nflf;nfLk; Neha;.  
a. fhkk;> ntFsp> kaf;fk;  
b. mOf;fhW> mth> ntFsp 
c. epk;gphp> kaf;fk;> mth 
d. kaf;fk;> mth> fhkk;  
e. tpil njhpatpy;iy  
 

100. Which is the central theme of the Novel "Sool"?  
a. Caste discrimination   b. Water problem 

c. Women empowerment  d. Child marriage 

e. Answer not known 
'#y;' ehtypd; ikaf; fij vJ?  
a. rhjpg;ghFghL    b. jz;zPH; gpur;rpid 
c. kfsph; Nkk;ghL    d. Foe;ijj; jpUkzk;  
e. tpil njhpatpy;;iy  
 


